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0 0 0 O O ExecutionContextProfiled 0 O O setRate O O setPeriodd O

O O def0 setRate(self,0 rate):

0 0O O O self._rtcout. RTC_TRACE("setRate(%f)", rate)
000 Oif0 rated <=0 0.0:

000000 returnd RTC.BAD_PARAMETER

0 0 0O O guardd =00 OpenRTM_aist.ScopedLock(self._profileMutex)
0 00 O self._profile.rated =0 rate

0 00 O self._periodd =0 OpenRTM_aist.TimeValue(1.00 /0 rate)
000 O returnd RTC.RTC_OK

O O defD setPeriod(self,00 sec=None,[J tv=None):

000 0if0 sec:

00000 O self._rtcout. RTC_TRACE("setPeriod(%f [sec])",Od sec)
O000000if0secd <0 0.0:

00000000 returnd RTC.BAD_PARAMETER

00000 0guardd =0 OpenRTM_aist.ScopedLock(self._profileMutex)
00000 Od self._profile.rated =00 1.00 /0 sec

00000 O self._periodd =00 OpenRTM_aist. TimeValue(sec)

00000 0OdelO guard

OO0000O0Oreturnd RTC.RTC_OK;

0000 elifd tv:

00000 O self._rtcout. RTC_TRACE("setPeriod(%f [sec])",00 tv.toDouble())
00000 0O0ifO tv.toDouble()O <O 0.0:

O0O0O0OO0OOQOOOreturnd RTC.BAD_PARAMETER

00000 O guardd =0 OpenRTM_aist.ScopedLock(self._profileMutex)
00000 O self._profile.rated =0 1.00 /0 tv.toDouble()

000000 self._periodd =0 tv

000000deld guard

000000 returnd RTC.RTC_OK

000 O returnd RTC.BAD_PARAMETER
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